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diff_evMon2 (nm) 1D pull distribution
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14__ Underflow 0
L Overflow 0
121~
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1D pull distribution

0.006055 + 0.1109

Mean

+0.07839
3.856/5
17.22+3.24
0.1181+ 0.0889
0.599 + 0.077

Std Dev  0.7994
Underflow
Overflow

X2 / ndf
Constant

Mean

Sigma

33.23 /51 R

46

X2 / ndf

p

.963

+5

1

(ppb)

corr_us_dd_evMon7

8'169¢
L'T69€
9'169¢
S'T69€
7' 169¢
£'169¢
C'169€
L'169¢
0'169¢
0T'069€
6'069€
8'069¢
,'069€
9'069¢
S'069€
7'069€
£'069¢
C'069€
L'069¢
0°069¢
[L'689¢€
0'689¢
07°'889¢
6'889¢
3'889¢
,.'889€
9'889¢
S'889¢
'889¢
£'889¢
C'889¢
[1'889¢
0'889¢
8',89¢
L'/89€
9'/.89¢
S'.89¢
V°'/89€
£'/.89¢
[AVAIS
L°,89¢
0'/.89¢
6'989E
8'989¢
,'989¢
9'989¢
S'989¢
7°989¢
£'989¢
2'989¢
[['989¢
0°989¢




(ppm)

corr_us_dd _evMon7 RMS

LI _____________ ___ﬂ

_____
o) ) ST
< \)

(wdd) siny

™

o]

N

N

L
i

—

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



1D pull distribution

-0.0129 + 0.1778

Mean

+0.1257

1.282

Std Dev

Underflow

Overflow

53/8
7.494+ 1.424

—5.124e-17 + 5.158e-07

X2/ ndf
Constant
Mean

1.374+ 0.204

Ollll

85.46 /51 R

-0.6489

X2 [ ndf

+ 3.828

p0O

(ppb)

corr_us_dd_evMon8

8'169¢

L'T69€

9'169¢

S'T69€

7' 169¢

£'169¢

C'169€

L'169¢

0'169¢

0T'069€
6'069€
8'069¢
,'069€
9'069¢
S'069€
7'069€
£'069¢
C'069€
L'069¢
0°069¢
[L'689¢€
0'689¢
07°'889¢
6'889¢
3'889¢
,.'889€
9'889¢
S'889¢
'889¢
£'889¢
C'889¢
[1'889¢
0'889¢
8',89¢
L'/89€
9'/.89¢
S'.89¢
V°'/89€
£'/.89¢

--¢’'L89¢

'L89€

-0°.89¢

6'989E
8'989¢
,'989¢
9'989¢
S'989¢
7°989¢
£'989¢
2'989¢

'989¢€
0°989¢




(ppm)

corr_us_dd _evMon8 RMS

(wdd) sny

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



- -H0T'889€
-He's89e

2 8 ° ° 3 8 £ &
@© ] - o = «
=1 — ~ — —
o o Q H o o
+ + > 5 + + 7]
~ 0 i 0 ~ -1
© © hu) ~ @ -
b ] N ©
8 H b -]
= S o -
3 &2 3 5 G 5
= & 5 € g 3 = g [—
c i = 2 g 3 s & »o =
=] = (7] =] o =< o = 2]
E=
3
e} \‘h
.m r ”
@ — ]
© 1 -1
= -
o
o
- =
—=
PRI NI R SR T T T BN TR ST S B RS | -
< N o © < o
— — —
[ ——
12 ——
56 —e——
-~ 0 ——
— . ——
5o —
: ——1
6+_
gn —
7o) —et—
- ——e—
N ——
Y—
©
c ———
/0
|
QIx
Q)
o
~
[©2]
c
=
>
e_ ——
o
©
| ——
[2]
S
r_ @
= ———
m ——
——
—-—
——
—
——+
——
—e—h
—et—
——
_____________ ____
o o o o o
n o wn [Te}
— - |




(ppm)

corr_us_dd _evMon9 RMS

(wdd) sny

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



corr_us_dd_evMon10 (ppb) 1D pull distribution
300— X2 / naf 219.5/51 1 M ~0.01798 £ 0.2849
C pO 3.077 £ 7.332 C o
- or ] StdDev  2.054 0.2015
200— [
— - Underflow 0
- o
100 — r Overflow 0
E * l l 7:— | x2/naf 11.37/12
o 1 ] ] | [
- l 1 .[ T oL ~ Constant  3.333 + 0.691
[ Mean  0.1577 +1.1254
100 5:— - sigma 3.504 + 1.443
~200— af
~300f— st
HEE NN I RN [
2
1
O:I 11 | il | 111 | 111 | 111 | 111 | 111 | 111

-8 ) -4 -2 0 2 4 6 8




(ppm)

corr_us_dd _evMonl10 RMS

(wdd) sny

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



® ~ S} o ) © re} N
«© (<2} - ©O o —
© ] -~ @ 0 <
N hat < S s (=]
o S 3 H °© +
+ + v @ H =]
9 3 g g g
. @ © 3 t
g < M-
S L ? n
> K] 2 < ]
) = o 5 8 < \ —
§ 2 & % = 2 5 E E
§1£ 385 & = 8 f & _— .
5 —]
m -
b= .
2 -
© -
=1 -
o —
o i
- =
P NI TN T T AN T T T TN T WO S AN SN T T [ T W | MR
~ © [Te) < ™ N o
[ —e— ]
— 5 —— —
n o —— —
- 0 —— —
© A“ —— —
4 —— —
< 4 —— _
= N~ —e— —
— [Te) —— —
N~ —— —
o ——— —
e ]
| —— —
—— —
Y —— —
© —— —
c —— —
~ —— —
=) . Z
al>< 2| i ]
(@]
~ —— ]
- —— —
- —— —
c —— —
o ——i —
s —-— —
> — —
[ —— —
| — —
ie] —— —
© —— —
S_ —— —
S —et— —
| —— —
= —— —]
@] —— —
o —— ]




(ppm)

corr_us_dd _evMonll RMS

____________
o ©

(wdd) sny

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



15000

10000

5000

5000

10000

corr_usl_evMonO (ppb)

—_—

X2 / ndf
pO

745.8 + 748.9

—
i
—

—

i
—_——
—

L

—

14

12

10

1D pull distribution

Mean

Std Dev

Underflow

Overflow

X2 / ndf

Constant

Mean

Sigma

4




(ppm)

corr_usl_evMon0 RMS

_____
Lo
N~
<

(wdd) sy

470

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



o p) o o had < <] f=J
g 32 % 3 8
S S > M 8 =
S e S < S H -
+ + 3 o +H o .
3 ] & 3 &
g 8 g 3 .
g ° 3 e
S T -
z - -
3 m m <] m © —
c|§ 5 ¢ % §E & § E ]
5
|2 & 5 &8 = 8 2 & g
2 ]
5 -
2 _Z
=
? ] 7
— " I —
S f ) m
=] B
2 -
o ]
- ]
Lo b by by by by bl | I AT I
< N o fee] © < ~N o [ce) © < N o
N N N - - - - -
[ —_—
o< . ®
57 A —
— °
AN
s .
— + @
: °
3 :
(o2} P
o -
°
G ®
° o
c .
- °
N =]
~><a o
2 .
Q ®
N “
— °
c L g
3
> 8-
e_ ®
) °
S )
r_ L 4
- 8-
(@] P
(&) o
.-
-
— i
o
— o
______T_ITTT.l__HIl!I_ITTTl_ITT_______________ i
=) ) ) o o =) o o =oowo <t NO NSO
S S S
3 3 8 3 R 8 3 Il=lel=liR=l=l=l=]
~ — — | =1 — [



(ppm)

corr_usl_evMonl RMS

(wdd) sny

8'169¢
L'T69€
9'169¢
S'T69¢€
7'169¢€
€'169¢
2'169¢
T'169€
0'T69¢
0T'069¢€
6'069¢
8'069¢
1'069¢€
9'069¢
§'069¢€
¥'069¢€
€'069¢
2'069¢€
T°069¢
0'069¢
T'689¢€
0689¢
01'889¢
6'889¢
8'889¢
1'889¢€
9'889¢
G'889¢
¥'889¢€
£'889¢
2'889¢
1'889¢
0'889¢
8'.89¢€
1'/89¢
9'/89¢
§°/89¢
¥'/89¢
€'/89¢
2'.89¢
T/89¢
0'.89¢
6'989¢
8'989¢
1'989¢
9'989¢
S'989¢€
¥'989¢
£'989¢
2'989¢€
T'989¢
0'989¢



-8 T69€E
1 T69E
"T69E
S'T69E
v 169€
—=E'T69E
-2’ 169¢
AL T69€
0'169¢
—0T'069€
6069
'069¢
'069¢
+9°069¢
5'069€
-V'069€
HE'069€
20698
—I'069€
0°069¢
'689€
'689€
—0T'889€
~6'889¢

*18'889€
L'889¢
49'889€
—3'889¢
7'889€
"889€
"889€
1889
—0'889€
18289
L 'L89E
H9'289€
—a'289¢
v'/89€
189
189
A1I'289€
—0'.89€
*16'989€
*48'989€
H.'989€
—9°989¢
5'989€
7'989€

- '989€
980

- 3 3 8 3
+ w < & mv_ + I
§ 3 e 8 ]
3 2 8 S ]
g o s ° §
? T 7
: & 3 5 G .
c|l§ S ¥ 5 2 2 § ¢& ]
§|1f2 5 5 3§ = 5 & % 3
=
>
b =
= . ]
= -
2] I —
© =— , -
=1 -
a \||||||WHHHHHWJ o
(@) ]
- m
e by by by by by by by by 7
© < N o [oe) © < N o
— — — -
[ —]
17 ]
o —
_m -
(©)] |
S o™ _
R +
o |
| I Z
<t —
N |
i —
—_— —
— —
© —
c — — —
~ —
o 0 —_— p_—
—~| < Q] ]
o) —
Q. _]
o
~ —_——t— —
N —_—— —
c —_—7 —
o —_——— —
> —_— —
> —_— —
() — |
I_ —_—— —
[72] —  —1 —
u_ —_—— —
—_ L . S— —
m —_— —
O —_— —
—_—— —
—_—— —
—_——— —
————— —
—_— —
—_——— —
—_—— —
— —
—_— —
- —
—_— —
——— —_
—_— —
—_—— —
—_— —
_______________
S 8 8 8 ° 8 8 8 8 8
o =] o =} o =) =} [=} =3
[¢°) (=] < N o <t [(e) [s5] o




(ppm)

corr_usl_evMon2 RMS
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1D pull distribution
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